Provincial Review - Solubility

	1.)
Calculate the [Li+] in 200.0 mL of 1.5 M Li2SO4. 

A.)

3.0 M                          B.)1.5 M                  C.) 0.30 M                       D.) 0.60 M
2.)
The solubility of SrF2 is ______________.
A.)

1.6 x 10-3 M

B.)

1.0 x 10-3 M

C.)

4.3 x 10-9 M

D.)

6.6 x 10-5 M

3.)
The solute AgBr is least soluble in ______________.
A.)

1.0 M FeBr3
B.)

1.0 M AgNO3
C.)

H2O

D.)

1.0 M CaBr2
4.)
Which of the following compounds is the least soluble in water? 

A.)

Fe(OH)3
B.)

CaS

C.)

KMnO4
D.)

NH4HC2O4
5.)
Which of the following forms a molecular solution in water? 

A.)

SrSO4
B.)

NH4CH3COO

C.)

C6H12O6
D.)

Na3PO4
6.)
Consider the following 10.0mL solutions:
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Equal moles of AgNO3 are added to each solution. It is observed that a precipitate forms in all but one solution. Which solution does not form a precipitate?
A.)

BrO3-                              
B.)

Br-
C.)

Cl-
D.)

IO3-
7.)
The magnesium and calcium ions in hard water can be removed by the addition of ____.
A.)

Na2SO4                                 B.) NaI                         C.) NaNO3                        D.) Na2CO3
8.)
Silver chloride, AgCl, would be least soluble in ______________.
A.)

1.0 M NaNO3
B.)

1.0 M ZnCl2
C.)

1.0 M AgNO3
D.)

1.0 M HCl

9.)
When 1.0 x 10-3 moles of CuCl3- are added to 1.0 L of 1.0 x 10-3 M IO3-, the _______.
A.)

Trial Ksp > Ksp and no precipitate forms.

B.)

Trial Ksp < Ksp and a precipitate forms.

C.)

Trial Ksp > Ksp and a precipitate forms.

D.)

Trial Ksp < Ksp and no precipitate forms.

10.)
The net ionic equation that describes a saturated solution of Ag2CrO4 is ______.
A.)
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B.)
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C.)
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11.)
When equal volumes of 0.20 M ZnSO4 and 0.20 M Sr(OH)2 are combined, _______.
A.)

a precipitate of only SrSO4 forms.

B.)

a precipitate of only Zn(OH)2 forms.

C.)

precipitates of both SrSO4 and Zn(OH)2 form.

D.)

no precipitate forms.

12.)
The solubility of Mn(IO3)2 is 4.8 × 10-3M. What is the value of Ksp? 

A.)

1.1 x 10-7              B.) 7.1 x 10-6                 C.)  1.1 x 10-1                   D.) 4.4 x 10-7
13.)
What is observed when H2SO4 is added to a saturated solution of CaSO4? 

A.)

the [Ca2+] increases

B.)

additional CaSO4 precipitates

C.)

bubbles of H2 are given off

D.)

the pH increases

14.)
A solution contains both Ag+ and Mg2+ ions. During selective precipitation, these ions are removed one at a time by adding __________.
A.)

I- followed by OH-
B.)

SO42- followed by Cl-
C.)

NO3- followed by PO43-
D.)

OH- followed by S2-
15.)
Consider the following saturated solutions:  CuSO4, BaSO4,CaSO4
The order of cation concentration, from highest to lowest, is ____________.
A.)

[Ca2+]>[Cu2+]>[Ba2+]         

B.)

[Cu2+]>[Ca2+]>[Ba2+]

C.)

[Cu2+]>[Ba2+]>[Ca2+]

D.)

[Ba2+]>[Ca2+]>[Ca2+]

16.)
Which of the following compounds has the lowest solubility? 

A.)

SrS                              B.) Rb2(CO3)2                 C.) Zn(OH)2               D.) CaCl2
17.)
Which of the following does not define solubility? 

A.)

the minimum moles of solute needed to produce one litre of a saturated solution

B.)

the moles of solute dissolved in a given volume of solution

C.)

the maximum mass of solute that can dissolve in a given volume of solution

D.)

the concentration of solute in a saturated solution

18.)
Which of the following solutions would have [Fe3+] = 0.020 M? 

A.)

0.50 L of 0.040 M FeC6H5O7
B.)

0.80 L of 0.020 M Fe(NO3)3
C.)

0.50 L of 0.040 M Fe2(C2O4)3
D.)

0.40 L of 0.050 M Fe(NO3)3
19.)
The Ksp expression for a saturated solution of Mg(OH)2 is _________.
A.)

Ksp = [Mg2+][2 OH-]²
B.)
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C.)

Ksp = [Mg2+][OH-]
D.)

Ksp = [Mg2+][OH-]²

20.)
Which of the following could dissolves a precipitate of CaC2O4 in a saturated solution of CaC2O4? 

A.)

H2C2O4                         B.) CaC2O4                        C.) NaOH                  D.) Ca(NO3)2
21.)
A solution contains two cations, each having a concentration of 0.20 M. When an equal volume of 0.20 M OH- is added, these cations are removed from the solution by precipitation. These ions are _______.
A.)

Ba2+ and K+               B.)Mg2+ and Sr2+              C.) Sr2+ and Na+         D.) Mg2+ and Ca2+
22.)
The complete ionic equation for the reaction between MgS and Sr(OH)2 is _________.
A.)
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C.)
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23.)
The solubility of CdS = 2.8 x 10-14. The value of Ksp is ___________.
A.)

2.8 x 10-14                            B.) 1.7 x 10-7                C.) 5.6 x 10-14               D.) 7.8 x 10-28
24.)
Which of the following saturated solutions will have the lowest [Pb2+]? 

A.)

Pb(IO3)2                                B.) PbCl2                      C.) PbI2                        D.) Pb(NO3)2
25.)
At 25°C, which of the following compounds would dissolve to form a saturated solution with the greatest [Pb2+]? 

A.)

PbBr2                                       B.) PbI2                                    C.) PbCl2                               D.) Pb(IO3)2
26.)
The solubility of SnS is 3.2 x 10-3 M. The value of Ksp is ___________.
A.)

3.2 x 10-3
B.)

6.4 x 10-3
C.)

5.7 x 10-2
D.)

1.0 x 10-5
27.)
The solubility of an AB2 type salt is 2.3 x 10-6 M. The salt is _________.
A.)

Mg(OH)2
B.)

PbBr2
C.)

Cu(IO3)2
D.)

Fe(OH)2
28.)
Which of the following will not produce a precipitate when equal volumes of 0.20 M solutions are combined? 

A.)

Na2SO4 and Pb(NO3)2
B.)

Zn(NO3)2 and K3PO4
C.)

KOH and CaCl2
D.)

Sr(OH)2 and (NH4)2S

29.)
The ion concentrations in 2.00L of 0.32 M K3PO4 are ____________.

{[K+]; [PO43-]} 

A.)

0.16M; 0.16M

B.)

0.48M; 0.16M

C.)

0.32M; 0.32M

D.)

0.96M; 0.32M

30.)
When equal volumes of 0.20 M RbCl and 0.20 M SrS are combined, _________
A.)

precipitates of both Rb2S and SrCl2 form     C). only a precipitate of SrCl2 forms

B.)

a precipitate of Rb2S only forms.                  D). no precipitate will form

Answer Key

Question:
Answer:
Subject Unit:
1
A
Solubility Equilibria
2
B
Solubility Equilibria
3
A
Solubility Equilibria
4
A
Solubility Equilibria
5
C
Solubility Equilibria
6
A
Solubility Equilibria
7
D
Solubility Equilibria
8
B
Solubility Equilibria
9
D
Solubility Equilibria
10
B
Solubility Equilibria
11
C
Solubility Equilibria
12
D
Solubility Equilibria
13
B
Solubility Equilibria
14
A
Solubility Equilibria
15
B
Solubility Equilibria
16
C
Solubility Equilibria
17
B
Solubility Equilibria
18
C
Solubility Equilibria
19
D
Solubility Equilibria
20
C
Solubility Equilibria
21
D
Solubility Equilibria
22
C
Solubility Equilibria
23
D
Solubility Equilibria
24
A
Solubility Equilibria
25
C
Solubility Equilibria
26
D
Solubility Equilibria
27
D
Solubility Equilibria
28
D
Solubility Equilibria
29
D
Solubility Equilibria
30
D
Solubility Equilibria
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